Chapter 6 – Quiz

MHF4U

1. The  trigonometric function f(x) = sinx has undergone the following set of transformations. Determine the equation of the resulting function and create a table of values for the function.

· vertical compression of 1/3

· vertical translation down 2

· reflected in the y-axis

· horizontal compression of 1/2 

· moved left π/3

2. Find an equivalent expression to sec(-5π/6)

3.  Find the angle in standard position whose terminal arm ends at (-6,-11). 

4.  A wheel is rotating at an angular velocity of 5π/2 radians per second, while a point on the circumference of the wheel travels 13π/2 m in 10 seconds. What is the radius of the wheel?

